Functions

1. Iff(x) = 2x + 3 find (fully simplified):

() f(1), (©) flx+1),

b) £, d) £a -3x). 5-6x
2. Ifg(x) =2x> —x + 1 find (fully simpliﬁed):

() g(5), (d) gCx+1),

(b) g(=2), (e) (>~ 1),

(c) 2(3), g () eV
3. If h(x) = 5= find (fully simplified):

(a) h(7), (d) h(z) &

(b) h(=3), (&) n(Tp). Bf

(c) n(x~3), (F) n(z%55)- i
4. If I(x) = 2= find (fully simplified):

(a) 1(=3), (d) 1D

(b) 1(D) (e) ()

(€) 1(x+1), zm| (f) 1(E=D). 4
5. If f(x) =2x -3, g(x) = x> + x and h(x) = ﬁ solve the following:

(@) f(x)=3, (e) gf(x) =0, x=tlorx=3

(b) fx+3)=38,

() FFf)=2x-1, ) O A =-1, =0]

(d) Af(x) =7, =5 (g fe) =-3, x=Oorx =1
6. If f(x) =x+1, g(x) =x%and h(x) = % solve the following:

(a) f(x) = 23 x=1 (e) hf(x) =X, x= —1;\/5

(b) fx+3) =3, () g/ =1,

(€ ffx)=2x-1, (g fh(x) =0,

(d) fff(x)=2x+6, =] (h) fg(x) =2,
7. If f(x) = 2x + 1, g(x) = x> + x and h(x) = 1, find fully simplified expressions for:

(a) fe(x). () ff(x).

(b) gf(x). weoxs2]  (£) fFF(X).

(©) 1f (). =] (g) g8(x).

) (h) Rrh(x)

2x+1
() nfg(x).
1
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8. Find the natural domain of the following functions:
(a) f(x)=-x+7.
(b) f(x)=x>-2x+1.
(© fo) =1
(d)
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d) f(x)=vVx-6.
(e fx) =vV2x + 1.
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9. Find the inverses of the following functions:

(@) £ =20-1. S - (g) flo) =5 CORE =
b) fx) =1 (h) flx)=1+2% T
(©) f(x)=ax+b o] () f(x)—S—— T
(d) fGx)=v2-x. oo () fm=a+ s

() () = iz et &) @ =85G [ = bty -
(£) £ == ()f(x)_\/@ Fl = gge

10. The following functions are self-inverse (i.e. f(x) = f~'(x) and ff(x) = x). Find conditions
on the constants for this to be true:

(@) f(x)=x+a. (b) f(x) =4, 0
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